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1. 1 mark

nearly 19,500 miles
(2b)

2. 1 mark for a sensible answer, e.g.

interesting
(2a)

3.1 mark for all four correct
A cave is formed in the coastline. (2]
Waves increase the size of the arch. [4]
The top of the arch collapses. [5]
Weak rock is broken down by waves.
(1]
The cave wears through to form an
arch. [3]

(21)
4, 1 mark

abundant
(2a)

5. 1 mark for both correct

a giant and a witch
(2b)

6. 1 mark
Australia
(2b)

7. 1 mark for a sensible answer without ¢
supporting evidence, e.g.
‘Because they don’t know how they've
really been made.”
2 marks for a sensible answer with
supporting evidence, e.g.
“Because they might not know how
they've actually been made. For
example, they might not understand
how the cave gets worn away to
become an arch.”
(2d)



